Name:;

Mixed Missing Factors Problems

1.110x =330
2.10x =50
3.12x =240
4.13x =390
5.14x =170
6.15x =75
7.17x =289
8 18x =324
9.9x =8l
10.20x =40
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2x =42

4x =72

5x =55

60x =780
I5x =105
80x =400
90x =450
40x =800
40x =400
40x  =1000

@ot T4,

You,
Ul

)

| Yo




Name:;

Mixed Missing Factors Problems

1.250x =750
2.350x =700
3.256x  =1536
4.60x =420
5.14x =84
6.15x =150
7.17x___ =765
8.80x =960
9.25x =175
10.24x =216
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32x =160
28x =140
70x =930
36x =252
95x =855
490x =980
20x =42

24x =48

18x =36

58x =232
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